5/2016/5139 Total Pages : 7

THIRD SEMESTER
ARCHITECTURE AND INTERIOR DESIGN
FOURTH SEMESTER
ARCH.ASSTT.

SURVEYING AND LEVELLING

Maximum Marks : 100

Note : 1) Attempt total six questions. Question No. 1
(Objective type) is compulsory. From the
remaining questions attempt any five.

&l B: U 7 IR 99T i 1 (TS
ThR 1) J1fart 21 99wt A | 58t ot @
gl HIfR

1) Assume missing data.

afe E STFBRT A 8 A e /1 o |

111) In case of any doubt or dispute, the English
version question should be treated as final.

R off wopR & T e fae & Ry 5
3Tt 9raT & " o1 3ife g SR

Time : Three Hours

1. Choose the correct answer : 2 each

Tal IR & 9T Hiforg
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1) The top of plane table is made of
(a) Steel
(b) Wood
(c) Brass
(d) Stone

T 29 BT <Y & 21T & -
(31) Tiet
CIRSEE
(%) diciet
(3) TR
i1) 'Two links of a metric chain are connected with
(a) Onering
(b) Threering
(c) Tworing
(d) Fourring
e o H g BT ! BT B -
(31) T B
(9) o soet
(#) a1 s

(3) R woall /
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1i) On the earth surface, the curve of 10km length

1v)

and subtended chords difference is
(a) 1cm

(b) Zero

(¢) 1 metre

(d) 1 decimetre

gl el W 10km =T A9 T =R Sitar a1
3R BT § -

(31) 19+t

(3) g3

(|) 14ex

(3) 1sHiex

Atevery change point the following readings are
taken

(a) Backsight
(b) Fore sight
(c) Bothback and Fore sight
(d) None of the above
/
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(4)

URF oo Gigre W o R & ot # -
(31) veTTaEa

(3) smada

(|) <1 uean vay Sumgele

(3) SWed 3rg T

N44°W value in whole circle system is
(a) 44° (b) 146°

(c) 224° (d) 316°

foret Nadow @1 guf g agfey o 51 & -
(31) 44° () 146°

(1) 224° (3) 316°

Write the detailed classification of surveying. 9
T & favga arffessor @t TmERA
Explain the two principles of chain surveying. 9

o &0 & g Rigral & I
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3. A 30m chain was 6cm too long after chaining

1500m. It was 10cm too long after 3000m at the
end of days work (total). The chain was initially
correct. Find the true distance. : 18

7o 304, T 15007, S A0 a5 6T et & St
v R o & rf T A W 3000+, g8 Ao
ag 109 =it 3 SIctt B1 9 el O A ey ot o
X T |

. Draw the neat sketch showing all parts of prismatic |

compass. 18

Preafee o & off a9l @l guia U wws fE
Eiﬂ]?zz‘f_l | -

. Write the name of methods of plane table set and
explain intersection method with the help of sketch.
18

o Cael ot ARl & A forRat v e vie fafy
BT AR TS

Jé2 PT.0.

https://'www.rgpvonline.com

(6)

6. The following consecutive reading were taken with

the help of dumpy level : 18

R o ursTTe T o=t Sfad & gRT AR o T

1.904, 2.653, 4.026, 1.964, 1.702, 1.592, 1.261,
2.542, 2.006, 3.1453. '

The instrument was shifted after fourth and seventh
reading. First Reading BM reading 100.00m. Calculate

the R.L.S and apply arithmetical check.
3fe IueHRoT Y TR g HIG YIS G- gSrT T o)
T Tt 100.004. 21

. What do you mean by Contour? Write the five

characteristics of contour also write the uses of

contour. 18
THTed YGI3T | FAT THSKI § S DIy grg fALredny
e Uaq FeieT e & S e

.. Write short note on : 4Y2 each

a) Types of levelling staffs

b) Local attraction

¢) Indirectranging

d) Advantages and disadvantages of plane table
survey
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